
Nazaret preIB Test 6 December 21, 2017

Imię i nazwisko:
Klasa:
Grupa 1
Wynik:

Question 1 (1 pt)
log√3

1
9 =

A. 4 B. −4 C. 14 D. −14

Question 2 (1 pt)
If logx 7 = 1

2 , then:

A. x = 49 B. x =
√

7 C. x =
1
7

D. x =

√
7

7

Question 3 (1 pt)
If log x− log y = 3, then:

A. xy = 10 B.
x

y
= 3 C.

x

y
= 1000 D.

x

y
= 310

Question 4 (1 pt)
If 2x+3 = 4x−1, then

A. x = 1 B. x = 5
3 C. x = 5 D. x ∈ ∅

Question 5 (1 pt)
Which of the following expressions is undefined:

A. log7
1
2 B. log3(−5)2 C. log|−4| 3 D. log1 2
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Question 6 (2 pts)
Solve the equation: 1

3

x+2 = 813x−1

Question 7 (4 pts)
Find the median and the interquartile range of the following numbers:

log2 8, log17 1, logπ π
3, log7

1
7
, 2log2 5, log 2 + log 5, log4 2, 13log7 1
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Question 8 (3 pts)
If loga x = 3 and loga y = 5, calculate

a) loga

√√√√ y3
ax

b) logx
(xy2)3

a

Question 9 (3 pts)
Solve

32x+1 = 7

giving your answer correct to 2 decimal places.
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Question 9 (3 pts)
Solve the following system of equations:log5 x

2 + log5 y = 0

log5 x
5 + log5

√
y = 2

Extra question
Use the substitution u =

√
9x+ 1 to solve:

log
3
√
9x+1 − 52−

√
9x+1

− 2 =
1
5

log 32−
√√√√x+

1
9

log 125


